PARLIAMENT OF INDIA
(JOINT RECRUITMENT CELL)

PRELIMINARY EXAMINATION FOR THE POST OF JUNIOR
PARLIAMENTARY REPORTER (ENGLISH/HINDI) IN RAJYA SABHA SECRETARIAT

21% November, 2010

PAPER: GENERAL KNOWLEDGE & CURRENT AFFAIRS AND GENERAL ENGLISH

INSTRUCTIONS : (i) Write your Roll No. at the appropriate column on the answer sheet. (ii) Put’'X’'
mark only in the correct Box like this {X}. No marks will be given for responses outside the Box. Use blue
or biack ball pen only to mark your response. (iii) In case you want to change your response to any
question, fully blacken the first response like this B and {X} mark in the correct Box. (iv) There will be

n e marking for wrong answer. For every three wrong answers, one mark will be deducted.
Time: 50 Minutes Marks: 100
PART - A : General Knowledge and Current Affairs

1 Who won five gold medals in women's swimming in Commonwealth Games 20107
(A) Alicia Coutts (B) Samantha Hamill  (C) Audrey Lacroix (D) Ellen Grandy

2. Indicate the correct order of performance in the overall medals tally in the Commonwealth Games
2010: (A) Australia, India, Canada, UK (B) Australia, UK, India, Canada
(C) Australia, India, UK, Canada (D) India, Australia, Canada, UK

3. Which political party does Aung San Suu Kyi lead in Myanmar? (A) National Party for Democracy in
Myanmar (B) National League for Democracy (C) National Democratic Force (D) National Myanmar

Democratic Front
4. Who wrote /ndia Wins Freedom? (A) Maulana Abul Kalam Azad (B) Netaji Subhas Chandra Bose
(C) Lord Mountbatten (D) Jawaharlal Nehru

5. According to the Nuclear Non Proliferation Treaty (NPT) a Nuclear Weapon State is one that has
manufactured and exploded a nuclear weapon or other nuclear explosive device prior to

(A) 1* January, 1964 (B) 1* January, 1966  (C) 1% January, 1967 (D) 1 January, 1970
6. National Education Day is celebrated on
(A) 19 October (B) 31 October (C) 11 November (D) 14 November
& Which of the following cities and the rivers passing through them are not correctly matched?
(A) New Delhi - Yamuna (B) Lucknow - Ganga  (C) Kolkata — Hooghly (D) Hyderabad - Moosi
8. Anemometer is a device used to (A) Measure the speed of wind (B) Measure the pressure of the
atmosphere (C) Change the voltage of electricity . (D) Monitor the circulation of blood
9. Who built the Grand Trunk Road?
(A) Humayun (B) Shah Jahan (C) Sher Shah Suri (D) Chandragupta Maurya
10. The Deer Park where Buddha first preached his religion is located at
(A) Sarnath (B) Varanasi (C) Mathura (D) Lumbini
1. The name ‘Lakshadweep’ means one lakh (100,000) islands. How many islands actually form the
Lakshadweep Islands of India? (A)6 (B) 36 (C) 223 (D) About 600
12 Which State of India has the largest area of forest land?
(A) Kerala (B) Tamil Nadu (C) Karnataka (D) Madhya Pradesh

13. Who among the following has never served as the Governor of the Reserve Bank of India?

(A) Dr. Y.V. Reddy (B) Dr. Jagdish N Bhagwati (C) Dr. Manmohan Singh (D) Dr. IG Patel
14. Which of the following State Legislatures is not bicameral?

(A) Uttar Pradesh (B) Madhya Pradesh  (C) Karnataka (D) Jammu and Kashmir
15. Who transiated the song ‘Vande Mataram’ into English?

(A) Rabindranath Tagore (B) Sri Aurobindo (C) Radha Kamal Mukherjee (D) Bipin Chandra Pal
16. India’s first nuclear powered submarine is

(A) INS Chakra (B) INS Shalki (C) INS Shahkul (D) INS Savitri

17. A special 3 member bench of Allahabad High Court delivered judgement on September 30, 2010 on

the disputed Ayodhya site. Which of the following judges was not a member of the bench?

(A) Justice S U Khan  (B) Justice Sudhir Agarwal (C) Justice P N Purohit (D) Justice D V Sharma
18. The seat of the International Court of Justice is established at

(A) Geneva (B) The Hague (C) Tokyo (D) Zurich
19. The ‘Pahari School’, ‘Rajput School’, ‘Mughal School’ and ‘Kangra School’ represent different styles
inthe artof (A) Architecture (B) Music (C) Painting (D) Dancing

20. Clove, the commonly used spice is obtained from the
(A) Root (B) Stem (C) Flower bud (D) Fruit
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Milk tastes sour when kept in open for some time due to the formation of

(A) Citric acid (B) Carbonic acid (C) Lactic Acid (D) Malic acid

Which of the following procedures will enable the adoption of a Money Bill that was once passed by
the Lok Sabha but was amended by the Rajya Sabha?

(A) It will go to the President (B) The Lok Sabha will have to pass it with 2/3™ majority of the Members sitting
and voting (C) A joint session of the two houses will be called (D) It will be deemed to have been passed if
the Lok sabha passes it again either by accepting or rejecting amendments proposed by the Rajya Sabha
The author of the book ‘Changing village, changing life’ is

(A) Praful Mohanti (B) M N Srinivas (C) Andre Beteille (D) S C Dube
The recently published book ‘Three decades in Parliament’ is a collection of the speeches of
(A) L K Advani (B) A B Vajpayee (C) N G Ranga (D) Somnath Chatterjee
The film ‘Salaam Bombay' was directed by

(A) Aparna Sen (B) Mira Nair (C) Shyam Benegal (D) Mrinal Sen

When is the World Environment Day celebrated?

(A) January 19 (B) May 5 (C) June 5 (D) October 5

Airis (A) A mixture (B) An element (C) A compound (D) An alloy

Fish breathe through (A) Gills (B) Nose C) Skin (D) Lungs
The lower, dense region of the atmosphere is known as

(A) Stratosphere (B) Troposphere (C) lonosphere (D) Exosphere

Who is the director of the movie ‘Peepli Live'?

(A) Rituparna Ghosh  (B) Anusha Rizvi (C) Prakash Jha (D) Danny Boyle
Claustrophobia refers to

(A) Fear of Strings (B) Fear of Castration (C) Fear of being touched (D) Fear of confined spaces
What type of galaxy is the Milky Way?

(A) Barred spiral (B) Elliptical (C) Spiral (D) Irregular

How many rings does Uranus have? (A)8 (B)20 (C) 11 (D)5

If a product is said to be “Sugar Free” it contains how much sugar? . (A) None (B) Less than 0.5
grams of sugar per serving (C) No more than 40 kcal per serving (D) less than 10.0 grams
The Third Battle of Panipat was fought in the year

(A) 1707 (B) 1739 (C) 1757 (D) 1761

India’s famous Peacock Throne and the diamond Koh-e-noor were taken away by

(A) Ahmed Shah Abdalli (B) Mohammad Ghori (C) Nadir Shah (D) Robert Clive

Scurvy is caused by a deficiency in vitamin (A) A (B) B (C)C (D)D

Who has been awarded the Nobel Peace Prize for 20107

(A) Liu Xiaobo (B) Lin Hsiao (C) Cathy Lu (D) Barack Obama

Who is the Prime Minister of Pakistan? (A) Asif Ali Zardari (B) Syed Yousaf Raza Gilani
(C) Shah Mahmood Qureshi (D) Khurshid Mahmood Kasuri

After how many years has India been elected to the UN Security Council as a non-permanent
member? (A) 17 (B) 18 (C) 19 ! (D) 20

Endoscopy, a technique used to explore the stomach or other inner parts of the body, is based on
the phenomenon of  (A) Total internal reflection (B) Interference  (C) Diffraction (D) Polarisation
During Obama'’s recent stay in Mumbai, he visited

(A) Raj Bhawan . (B) Gandhi Bhawan (C) Nehru Bhawan (D) Mani Bhawan

Who is the Prime Minister of Britain?

(A) David Cameron (B) Tony Blair (C) Gordon Brown (D) John Major

For which news channel does Barkha Dutt, the famous TV journalist, work as a Group
Editor? (A) Times Now (B) Headlines Today  (C) NDTV (D) CNN IBN

In the life cycle of an insect, the state of pupa comes after

(A) Cocoon (B) Larva (C) Embryo (D) Omago

Who is the author of ‘War and Peace’?

(A) Fyodor Dostoevsky (B) Winston Churchill  (C) Leo Tolstoy (D) Benito Mussolini

The venue for the 2010 Asian Games is

(A) Baiyun (B) Shanghai (C) Philippines (D) None of these

SAARC stands for (A) South Asian Association for Regional Cooperation (B) South Asian
Autonomous Regional Councils (C) South African Autonomous Regional Council (D) South Asian

Auditors Regional Guild

The line demarcating the boundary between India and Pakistan is

(A) Durand Line (B) MacMohan Line (C) Radcliff Line (D) Maginot Line
Which among the following is considered the de facto capital of the European Union?
(A) Cologne (B) Paris (C) Brussels (D) Frankfurt
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PART - B : GENERAL ENGLISH

Indicate the option closest in meaning to the words in bold:

Totalitarian (A) omnipotent (B) imperative (C) regal (D) imperial
Coerced (A) wooed (B) forced (C) asked (D) told
Crude (A) unsubtie (B) inadequate (C) defective (D) unrefined
Denunciation < (A) invalidation (B) refutation  (C) condemnation (D) insinuation
Liquidation (A) assassination (B) suppression (C) extermination (D) subversion
Friction (A) diversion (B) contradiction (C) divergence (D) conflict
Conditioning (A) indoctrination (B) tutoring (C) guidance (D) instruction
Assign (A) transfer (B) attribute (C) apportion (D) ascribe
Foolproof (A) sure (B) certain (C) safe (D) secure
Glum (A) dispirited (B) sticky (C) clogged (D) overfed

Choose the antonym of the given words:

Zealous (A) enthusiastic (B) indifferent (C) sluggish (D) calm

Wane (A) increase (B) diminish (C) brighten (D) ignore
Vociferous (A) unimportant (B) dull (C) silent (D) insistent
Urbane (A) rural (B) presumptuous (C) dishonourable (D) uncouth
Tenable (A) relaxed (B) hesitant (C) indefensible (D) off putting
Suave (A) puny (B) unsophisticated (C) intractable (D) overbearing
Stolid (A) lively (B) natural (C) tranquil (D) peaceful
Placate (A) torture (B) anger (C) sadden (D) permeate

Fill in the blanks with the most appropriate option out of the given alternatives (A, B, C and D):

It must be pointed out that two months have since Rohit visited his parents.

(A) expired (B) lapsed (C) transpired (D) elapsed

The newspaper was ordered to pay Mr. Mohan rupees one lakh ___ for printing the libelous story
about him.

(A) damages (B) refund (C) penalty (D)restitution

Police have ____to the public to come forward with any information which might help them in their
investigation.

(A) urged (B) claimed (C) appealed (D) called

Numbers for the evening classes have _____rather badly, we may have to close it.

(A) dwindled (B) deteriorated (C) reduced (D) lessened

When the truth about the blackmail attempt finally___, we were all astonished to hear who the culprit
was,

(A) evolved (B) emerged (C) arose (D) revealed
The illness had a terrible ___ on him, making him depressed and bad tempered.
(A) results (B) consequence (C) effect (D) outcome

Choose the alternative (A, B, C or D) that best brings out the meaning of the idiom or phrase:

The cat's whiskers

(A) something which is badly done (B) feeling that one is wonderful

(C) skilful person (D) untidy person

Feeling all in

(A) extremely content  (B) exhausted (C) not comfortable (D) enjoying things
Buried the hatchet

(A) made peace (B) got out of a bad situation  (C) calm the situation down (D) be laid back
To put your feat up

(A) to give up (B) to surrender without a fight (C) to relax (D) to become immaobile
Pay over the odds

(A) pay the least (B) pay up (C) pay more than the usual rate (D) resist lowering the price
To flog a dead horse ’

(A) to be cruel (B) to waste energy (C) to be exhausted (D) to be persistent

.——3"’
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One of these phrases marked (A, B, C and D) is wrong. Pick out the phrase which is wrong.

(A) India demonstrates its supremacy (B) in space when it successfully

(C) launched its third satellite (D) into orbit yesterday

(A) India needs a value education system (B) who will inculcate values

{C) among the students (D) and enrich their personalities

(A) Coal mines constitute (B) a majority percentage of the sources
(C) which cause damage ) (D) on the environment

(A) A man who has been _ (B) accused of a fraud in an earlier job
(C) he will never be welcome (D) in any other organization

(A) Many organizations have been offering (B) attractive incentives to their employees
(C) in an attempt (D) to boosting employee retention

(A) She's the sort of person (B) that everyone like

(C) because she always (D) tries to help

Choose the word or phrase (A, B, C or D) which best completes the sentences given below:

___some of our friends had stayed at the guest house before, we knew that the place would be clean
and comfortable

(A) Though (B) Since (C) For (D) Because of

He was ___a mile of the hotel when he ran out of petrol

(A) within (B) inside (C) only (D) hardly

Their plans to start their own business seem doomed ___failure

(A) for (B) to (C) with (D) in

I'm sorry, but| __you

(A) disagree to (B) am disagreeing with (C) disagree (D) disagree with
It's a strange story, but1 __it

(A) believe (B) don't believe (C) am believing (D) believe with
The matter must be considered every point of view

(A) from (B)in (C) with (D) at

He was born ___ rich parents

(A) from (B) by (C)to (D) of

The train ___ before we reached the station -

(A) left (B) had left (C) will be left (D) has left

One of the men gave first aid to Pawan ___ in a road accident .

(A) who is injured (B) who had injured (C) as he injured (D) who was injured

Which of the phrases (A, B, C and D) given below each sentence should replace the phrases
underlined to make the sentence grammatically correct:

The crowd which has gather to protest against the decision slowly returned to their homes

(A) which have gather  (B) which has gathered (C) which had gathered (D) which gathers around
criticism of some colleagues the Chairperson still commands respect from the employees

(A) Except the criticism from (B) Despite criticism from (C) unless criticism from (D) Without criticism from

Attempts by both parties to reach for a consensus have not succeeded

(A) to reach at (B) to reach (C) in reaching to (D) to reaching for
Newspapers have great power on account their enormous circulation
(A) owing (B) as a result (C) because of (D) consequence

Children nowadays are watching very much of television
(A) too much of (B) more of (C) much of (D) most of
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